 








Name: __________________

Assignment: Study Sheet on Chemical Reactions for the Exam

Write one sample balanced chemical reaction for each of the following types and subtypes of chemical reactions.  Make sure to include all states of matter and the symbol for heat when necessary.
1. Synthesis

a) element + element = compound

b) metal oxide + water = base

c) non-metal oxide + water = acid

d) metal oxide + non-metal oxide = ternary salt
2. Decomposition (do not use the same examples as above)

a) compound = element + element

b) base = metal oxide + water

c) acid = non-metal oxide + water

d) ternary salt = metal oxide + non-metal oxide

3. Single Displacement

a) metal + compound = metal + compound (reaction occurs)

b) metal + compound = metal + compound (no reaction)

c) non-metal + compound = non-metal + compound (reaction occurs)

d) non-metal + compound = non-metal + compound (no reaction)

e) metal + water = base + hydrogen gas (reaction occurs)

f) metal + water = base + hydrogen gas (no reaction occurs)

g) metal + acid = compound + hydrogen gas (reaction occurs)

h) metal + acid = compound + hydrogen gas (no reaction occurs)

4. Double Displacement

a) compound + compound = no reaction because all products are aqueous
b) compound + compound = precipitate forms

c) compound (acid) + compound (base) = water forms
d) compound + compound = H2S gas forms

e) compound + compound = NH3 gas forms

f) compound + compound = CO2 gas forms

g) compound + compound = SO2 gas forms

5. Combustion

a) methane (CH4)

b) ethane (C2H6)

c) ethanol (C2H5OH)

	1a) element + element = compound



	1b) metal oxide + water = base



	1c)  non-metal oxide + water = acid



	1d) metal oxide + non-metal oxide = ternary salt



	2a) compound = element + element



	2b) base = metal oxide + water



	2c) acid = non-metal oxide + water



	2d) ternary salt = metal oxide + non-metal oxide



	3a) metal + compound = metal + compound (rxn)



	3b) metal + compound = metal + compound (no rxn)



	3c) non-metal + compound = non-metal + compound (rxn)



	3d) non-metal + compound = non-metal + compound (no rxn)



	3e) metal + water = base + hydrogen gas (rxn)



	3f) metal + water = base + hydrogen gas (no rxn)



	3 g) metal + acid = compound + hydrogen gas (rxn)



	3 h) metal + acid = compound + hydrogen gas (no rxn)



	4a) cmpd + cmpd = cmpd + cmpd (no rxn)



	4b) cmpd + cmpd = cmpd + precipitate (solid)


	4c) cmpd (acid) + cmpd (base) = cmpd + liquid water


	4d) cmpd + cmpd = cmpd + gas (H2S)



	4e) cmpd + cmpd = cmpd + gas (NH3)



	4f) cmpd + cmpd = cmpd + gas (CO2)



	4g) cmpd + cmpd = cmpd + gas (SO2)



	5a) combustion of methane



	5b) combustion of ethane



	5d) combustion of ethanol




